Kuwait University
Department of Mathematics and Computer Science
Math. 102, Calculus II Date: -/05/2005
Second Incomplete Exam. Duration: 75 min,

Answer all questions. Calculators and Mobile Phones are not allowed.

1. (3 pts. each) Evaluate the following integrals:
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2. (3 pts.) Check the improper integral for convergence, and find its limit if it is convergent.
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3. (3 pts.) By using implicit differentiation, find %, if

tanh(zy) +3%(1 + cosh? )" + In(1 + sinhz) = ¢

4. (2 pts. each) Find the limit, if exists.
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